= O
N & o & AF &2 H Ml A
011AE 2OIAh LBIS|H SENLD ~ sEHLD
SH: 2
M ICHAERNSHE) MRS (SEHY M/ - 5&)
el EIIEH%%OP’:DPEXHJH%* (e @8
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
SEL D 229,230,047 193,562,011 35,648,036
= 33,107,679
=l 162,646,000
= 33,476,368
PICHIE SN SHEI B (SYHY+/ 5L - 5E) 228,906,524 193,259,000 35,647,524
= 33,107,679
3 162,646,000
= 33, 152,845
EEEEEN BT, 135,432,679 97,350,000 38,082,679
=2 87,679
=l 18,538,000
= 16,807,000
SOlEH 2T A 6,121,000 2,080,000 4,041,000
=l 4,708,000
= 1,413,000
403 XHXISHAI S XH2 0| 6, 121,000 2,080,000 4,041,000
3 4,708,000
= 1,413,000
01 RMXSAXZSE 6,121,000 2,080,000 4,041,000
BEVE RSN 6, 121,000
=l 4,708,000
= 1,413,000
EEENENE B 528,000 36,000 492,000
201 Yer2g| 9,000 6,000 3,000
01 AtR22lt] 9,000 6,000 3,000
mIEIE=1T 4,000
OYBS MU ENLHLHHANE RS 4,000
O2g+y 5,000
OSSO ENLALLE AN AT A YA
At 5,000
202 01t 4,000 10,000 6,000
IETEE 4,000 10,000 6,000
SENSEHNLASEXO] 4,000
307 2120/ H 15,000 20,000 A5,000
05 QI2t9IEtz 15,000 20,000 5,000
OsEXNNLALAIS 15,000
403 RHXISHH S XH=0IE 500,000 0 500,000
01 XXISHAX=E S 500,000 0 500,000
DY XS DT 2485 500,000
AR OIS B B (52) 46,833,000 35,635,000 1,198,000
=l 41,499,000
= 5,334,000
403 XX SIS KHZ 0 & 46,833,000 35,635,000 1,198,000
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HESHEMSMHI L

NHSR SO &)U AE(SLH Y24/ 52 -

- _ _ HEE
SN-EHH S (3H) - HEAY - BES Ofl &+ o4 il i~ o Hnz2
2 41,499,000
=5 5,334,000
01 IXSHMII2LEE 46,833,000 35,635,000 11,198,000
ORACLINIS S - (S &) 46,833,000
o 41,499,000
& 5,334,000
AU IS TEFHI (M E) 2,548,000 0 2,548,000
2 2,099,000
3 449,000
403 XXISHS K 0IE 2,548,000 0 2,548,000
2 2,099,000
3 449,000
01 IXSHMII2LEE 2,548,000 0 2,548,000
OACLIDIS TS ZH| (&E) 2,548,000
o 2,099,000
3 449,000
AL DIS TS Y (TAIES) 701,000 0 701,000
2 605,000
S 96,000
403 XtXISHHISKHE0IA 701,000 0 701,000
2 605,000
3 96,000
01 IXSHMII2LEE 701,000 0 701,000
DA ST IO (STAEA) 701,000
2 605,000
& 96,000
AAHLDSBENL A 5,000 0 5,000
202 01| 5,000 0 5,000
01 2UHoiHI 5.000 0 5,000
DRSNS EENL T 5,000
SUATIXNEEHHI(s&) 18,606,000 0 18,606,000
o 16,486,000
3 2,120,000
403 XIXIERIS K 20| H 18,606,000 0 18,606,000
& 16,486,000
& 2,120,000
01 XX SHHMAELEE 18,606,000 0 18,606,000
OSeHATXSEHH (5E) 18,606,000
2 16,486,000
3 2,120,000
SUATIXZERE(AES) 9,800,000 0 9,800,000
o 8.500,000
-3 1,300,000
403 XIXISHIS K 20| H 9,800,000 0 9,800,000
& 8.500,000
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< 1,300,000

01 RXESHMA=LE 9,800,000 0 9,800,000
OSHAMNSS I (AES) 9,800,000
2 8,500,000
= 1,300,000

AROISES LT (RS) 3,705,000 1,314,000 2,391,000
= 3,283,000
= 422,000

403 XHXISHHIS AHE 01 & 3,705,000 1,314,000 2,391,000
= 3,283,000
= 422,000

01 RXESHIZEE 3,705,000 1,314,000 2,391,000
OAROISELSLHNL (RE) 3,705,000
= 3,283,000
= 422,000

SEMBEHZ Y 42,909,000 57,382,000 14,473,000
= 38,021,000
= 4,888,000

403 XHXIEHHIS AH2 01 & 42,909,000 57,382,000 14,473,000
= 38,021,000
= 4,888,000

01 RXESHIZEE 42,909,000 57,382,000 14,473,000
B R L 42,909,000
= 38,021,000
= 4,888,000

SEMBEATY (TAZ) 1,693,000 0 1,693,000
= 1,500,000
= 193,000

403 XHXISHHISAH2 01 & 1,693,000 0 1,693,000
= 1,500,000
= 193,000

01 RXESHIZEE 1,693,000 0 1,693,000
BEEFEEEETIEINEE) 1,693,000
= 1,500,000
< 193,000

HEXNANL(BESEHREY) 504,000 0 504,000
= 480,000
= 24,000

403 XHXISHHISAH2 01 & 504,000 0 504,000
= 480,000
= 24,000

01 RXESHIZEE 504,000 0 504,000
OFEXNSNS(BLSSSHNES) 504,000
= 480,000
= 24,000
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B CHAE RN SR MRS (AL L/ 5D - SE)
e DIcHESHENS MY (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
BTGNS (HEBHIZH) 722,000 0 722,000
= 687,000
= 35,000

403 AXIHHSK=201H 722,000 0 722,000
= 687,000
= 35,000

01 RXSHMA2E = 722,000 0 722,000
OFEXNSNL(AZHTE=H) 722,000
= 687,000
o= 35,000

JIZME T2t HY(IIOFsEMEETY) 600,000 0 600,000
& 600,000

403 A XIHHSK=01H 600,000 0 600,000
= 600,000

01 AXEHMA2E X 600,000 0 600,000
Ool=MetolZet A (HIHFsEME R I Y) 600,000
= 600,000

JlZMETEY(THOIOF2SH T S) 70,000 0 70,000
= 70,000

403 XXM SA=01d 70,000 0 70,000
& 70,000

01 RXSMA2E = 70,000 0 70,000
(DI ZMEol It Y (HIOFZSHHE) 70,000
= 70,000

S MHAAEHE ALK 87,679 0 87,679
= 87,679

202 O4Hl 5,079 0 5,079
= 5,079

01 =Wl 5,079 0 5,079
O=S MM ZAIGRF=A 5,079
= 5,079

308 NXISHHSOIE 82,600 0 82,600
= 82,600

01 MXEHMIANELS 82,600 0 82,600
O=2SMAAEH AL SEX XA 82,600
= 82,600

Y SEEFSS 15,618,500 16,985,300 A 1,366,800
= 2,230,000
= 10,233,000
= 3,155,500

NESSBLML(XE) 2,713,000 5,235,000 A2,522,000
= 2,457,000
& 256,000

403 NtXIEMSK=01H 2,713,000 5,235,000 22,522,000




SN SENRLD
HE: 2ICHASEENSHE) SRS (SN / 5 - 55)
ool NEl=Egs2E (oo ®e
MNuE o
SH-EFHHA(FA) - NIRAE - BES O AFH loﬂ/l\_Fo” Hos
2 2,457,000
[ 256,000
01 NS =EE 2,713,000 5,235,000 A2,522,000
OXESS20e 2,713,000
2 2,457,000
[ 256,000
XNELSLML (S A 373,000 0 373,000
& 373,000
403 XXISHIS X 20| & 373,000 0 373,000
2 373,000
01 NS 2EE 373,000 0 373,000
OXNESSANL(TAIES) 373,000
2 373,000
SR E=ES I 2,342,000 2,904,800 A562,800
= 2,230,000
[ 112,000
403 XSRS K201 & 2,342,000 2,904,800 A562,800
= 2,230,000
[ 112,000
01 IS 2EX 2,342,000 2,904,800 562,800
T E=2S =T 2,342,000
= 2,230,000
[ 112,000
SESMBERAINY 4,910,000 4,736,000 174,000
2 4,354,000
[ 556,000
403 X XISHHIS X 20| & 4,910,000 4,736,000 174,000
2 4,354,000
[ 556,000
01 IS 2EE 4,910,000 4,736,000 174,000
SESAMBESNY 4,910,000
& 4,354,000
= 556,000
AR2ELIL 3,629,000 3,098,000 531,000
2 2,592,000
[ 1,037,000
403 XEISHHIS X 20| & 3,629,000 3,098,000 531,000
2 2,592,000
[ 1,087,000
01 IS =EE 3,629,000 3,098,000 531,000
OARRE4H 3,629,000
2 2,592,000
= 1,087,000
ARDELHL(TAIEA) 640,000 0 640,000
2 457,000




SN SENRLD
HH: 2CHAE SN S0 E) BT (SYHY /5 - 5&)
o9l NESERA2S (el & 2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl ko HRs2
= 183,000
403 X HMSAH=01H 640,000 0 640,000
= 457,000
= 183,000
01 RXSHMA2E = 640,000 0 640,000
OARZESHE(ZAEH) 640,000
= 457,000
= 183,000
SIS S BSEE 1,000,000 1,000,000 0
403 X SHMSAH=01H 1,000,000 1,000,000 0
01 RXSHMA2E X 1,000,000 1,000,000 0
O8tsttlsdES-2 20X 1,000,000
P sEEFHEFA 11,500 11,500 0
201 L2y 3,000 3,000 0
01 AtSR22/H] 3,000 3,000 0
Dget=&Hl 3,000
OSESLNL AL RS 3,000
202 O4Hl 8,500 8,500 0
01 2UjoiHl 8,500 8,500 0
OsE84MLARE0Y) 8,500
I E e SIS 68,444,345 69,737,700 A1,293,355
= 30,790,000
& 33,875,000
= 3,779,345
==l ZREe 6,917,700 10,798,300 23,880,600
= 6,274,000
& 643,700
403 THXISHHIS KH 0| ® 6,917,700 0,798,300 3,880,600
3 6,274,000
& 643,700
01 RXESHMA2E = 6,917,700 10,798,300 A 3,880,600
&3 XE e 6,917,700
= 6,274,000
= 643,700
A B2 E 17,851,000 18,475,000 A624,000
= 15,823,000
& 2,028,000
403 XXM SA=201H 17,851,000 18,475,000 2624,000
& 15,823,000
= 2,028,000
01 RXESHMA2E = 17,851,000 18,475,000 A 624,000
LOIAHS BN Z S T Y 17,851,000
= 15,823,000




D sENL
D 2ICEHAE S sHEI RS (sEHHY
DA S s E

SN (BH) - MP A Loy ad s HRZ2
0] & o8

| < 2,028,000

JIHSIEAE 2SI I (S AIEE) 1,129,000 0 1,129,000
= 1,000,000
== 129,000

403 XX SHHSK=201H 1,129,000 0 1,129,000
& 1,000,000
== 129,000

01 AXSHHMA2EE 1,129,000 0 1,129,000
CJ|HSIAAZEILE(ZAIEH) 1,129,000
= 1,000,000
& 129,000

E Rl eSksll 11,740,545 9,656,800 2,083,745
2 10,778,000
== 962,545

403 XX SHHSK=201H 11,740,545 9,656,800 2,083,745
& 10,778,000
= 962,545

01 AIXSHHMAZ2EE 11,740,545 9,656,800 2,083,745
EPAREESEs] 11,740,545
= 10,778,000
= 962,545

=& (2 E) 17,190,000 16,990, 000 200,000
= 17,190,000

402 QIZ2tXH=E01A 17,190,000 16,990,000 200,000
= 17,190,000

01 QI2tXEE=x 17,190,000 16,990,000 200,000
Ol =S (2 E) 17,190,000
= 17,190,000

=S FANONEZD! 13,600,000 13,800, 000 A 200,000
= 13,600,000

403 XMXISHMS 20| 13,600,000 13,800,000 A 200,000
= 13,600,000

01 AXESHMA2EE 13,600,000 13,800,000 A 200,000
CIEH =0 & (KT ) 13,600,000
= 13,600,000

IS G s I ESFR 16,100 17,600 A 1,500

201 Et24 | 2,000 3,500 A 1,500

01 AtS22telyl 2,000 3,500 A 1,500
Ogdt~2H| 2,000
OsgIIgetEdAHENE RS 2,000

202 4l 8,500 8,500 0

01 2| 8,500 8,500 0
OBt X2HA2F=R 0| 8,500
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203 HRFY| 5,000 5,000 0
03 AlZZ=TQ R =Ty 5,000 5,000 0
Os&ENg s 5,000
303 LA 600 600 0
01 maZ 600 600 0
OsIISELALZURBILRAIL 600
THBH CH I =21 Al & & b 9,411,000 9,186,000 225,000
THoH 0l 2 &= 3 -2 Al & F bl 7,000,000 7,000,000 0
403 XHXISH SR 201 7,000,000 7,000,000 0
01 WXSHMAZDE 7,000,000 7,000,000 0
THoH Ol 2 &= 22 Al & | 7,000,000
RIEEIEES RN 183,000 76,000 7,000
403 XX GHRIS XH= 0/ & 183,000 76,000 7,000
01 XIS K22 183,000 76,000 7,000
BEE-EEESIE-T] 183,000
Ve L 2,000,000 2,000,000 0
403 RHXICHH SR =0 2,000,000 2,000,000 0
01 MXSHAZDE 2,000,000 2,000,000 0
mPEE DR E-F 2,000,000
SESb LT 218,000 0 218,000
403 XHXISH SR =0 218,000 0 218,000
01 MXSHAZDE 218,000 0 218,000
BPSESPIIEE=T 218,000
THH CH Bl 221 Al & R ] 10,000 10,000 0
201 LByl 2,000 3,000 A1,000
01 Attt 2,000 3,000 A1,000
e8| 1,000
OMHTHEI <RI A S HE H AN B RIS 1,000
mEETH 1,000
OTH B CHEIEI & 2 2 TS Al 1,000
202 OiH| 8,000 7,000 1,000
01 2Uioibl 8,000 7,000 1,000
CITHOH CHYI 221 Al 2 H Bl R =R 04 8,000
MES AR (SENL ) (JIEHIIE) 43,523 43,011 512
oz 2| 16,523 16,011 512
ozt 2 h| 16,523 16,011 512
101 24| 16,523 16,011 512
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